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B. Sc. (Sem. VI) Examindtion
March / April - 2018
Mathematics : Paper - ES-32

(Business Mathematics-4)
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There are two question and figure to the right indicate

1 Attempt any three : 30
(a)  Solve following L.PP
Maximize £ = 2000x + 3000 v
St 2x+5v <180 3x+3v <135 x20. v210
{by Solve following L.PP
Minimize 72 =5x+ 3 v
St 2x :.1‘2 rx+rz2ivzl0 vz
{c) Solve followmg 12D
Maximize £ =x+ v
Sti. 3x+3v€6: x+4r<sd: w200 v 20
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Salve lollowing L.PP
Maximize Z = 2x +

g1 Ix+dr=66x+y<y,
x20, 120

Attempl any Bvo o

{a)

(b)

(<)

~T20 12212426 [28]30(32
7130 |35 [40 [ 50|60 60]55

Find out the coefficient of correlation between x
and y.

2|3 4 5
184 | 142 | 180 | 338

x| 1
v | 166

Find out the regression coefficient between x and »

20

The correlation coeflicient between the variable x and

yis p=0.6.
It oy =1.5:6,, =2: ¥=10: ¥ =20 then find

out the cquations of the regression lines (i) » on ¥
(1) x on p
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